



Addition de fractions

Mets les fractions au même dénominateur puis additionne-les.

$$\frac{1}{2} + \frac{6}{8} = \frac{\quad}{8} + \frac{\quad}{8}$$
$$= \frac{\quad}{8}$$

$$\frac{2}{3} + \frac{8}{9} = \frac{\quad}{9} + \frac{\quad}{9}$$
$$= \frac{\quad}{9}$$

$$\frac{1}{2} + \frac{3}{6} = \frac{\quad}{6} + \frac{\quad}{6}$$
$$= \frac{\quad}{6}$$

$$\frac{6}{9} + \frac{2}{3} = \frac{\quad}{9} + \frac{\quad}{9}$$
$$= \frac{\quad}{9}$$

$$\frac{5}{6} + \frac{2}{3} = \frac{\quad}{6} + \frac{\quad}{6}$$
$$= \frac{\quad}{6}$$

$$\frac{1}{3} + \frac{4}{6} = \frac{\quad}{6} + \frac{\quad}{6}$$
$$= \frac{\quad}{6}$$